
Subject: Re: MacOS X woes
Posted by mirek on Fri, 15 Dec 2006 13:25:33 GMT
View Forum Message <> Reply to Message

lundman wrote on Fri, 15 December 2006 08:10
Actually, its just size.cx*size.cy and at 3328 pixels each, that is the right value. So assuming
3328x3328 is correct..

...but 3328 almost certainly is not...

-> is 0xd00, 0x00d is much more realistical (first picture in the .iml is 13x13 pixel image).

We are definitely getting nuxi problem here...

Are you sure that Peek16le is in correct version? (Maybe just preprocess the file and look.)

Mirek

Page 1 of 1 ---- Generated from U++ Forum

https://www.ultimatepp.org/forums/index.php?t=usrinfo&id=3
https://www.ultimatepp.org/forums/index.php?t=rview&th=1794&goto=7142#msg_7142
https://www.ultimatepp.org/forums/index.php?t=post&reply_to=7142
https://www.ultimatepp.org/forums/index.php

